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QUESTION 1

Which two statements are true about working with client access licenses for CLM? (Choose two.) 

A. Licenses must be applied to a user for them to access the application capabilities. 

B. Licenses grant automatic access to a project area. 

C. Licenses are role-based. 

D. A license cannot be manually re-assigned to another user for four hours. 

E. A purchased license cannot be added to a server running trial licenses. 

Correct Answer: AC 

 

QUESTION 2

What must be done to install CLM on UNIX or Linux servers? 

A. install a Windows emulator on the system 

B. rename all X11 libraries on the system to jazz.X11. 

C. increase the limit of the number of files that can be opened on the system 

D. decrease the number of users that can access the system 

E. block access to all http ports on the application servers running on Linux 

Correct Answer: C 

 

QUESTION 3

For which two purposes does CLM use absolute URIs? (Choose two.) 

A. to locate clients attached to the server 

B. to act as a stable resource identification for all applications 

C. to act as a proxy for other systems 

D. to permit consistent web access to stored artifacts 

E. to reduce the size of any URL referencing stored artifacts 

Correct Answer: BD 

 

QUESTION 4
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Which artifact containers are pre-populated with existing artifacts by the sample application for the "Money that Matters"
scenario? 

A. Requirements Management, Business Process Management, and Quality Management 

B. Quality Management, Change and Configuration Management, and Information Management 

C. Change and Configuration Management, Vulnerability Management, and Quality Management 

D. Requirements Management, Change and Configuration Management, and Quality Management 

Correct Answer: D 

 

QUESTION 5

When completing a plan item, which role does the test team provide? 

A. creates an iteration plan and chooses which plan items to target for the first iteration 

B. reviews the plan items that are targeted for the iteration and the related high-level requirements, and creates detailed
requirements 

C. elaborates the test cases that are associated with the development tasks 

D. checks in their change sets and runs personal builds to test the changes in their own workspaces 

E. runs a team build, reviews the results, and tags the build as ready for testing 

Correct Answer: C 
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